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Please use the following information to answer Questions 1 to 3.

Partner Ali is served as the engagement partner for the following audits of financial statements of nonpublic
companies. Below provides situations relating to Partner Ali’s clients (Clients A-H). Unless indicated otherwise,
assume that material amounts are involved.

Client A: Partner Ali has determined that substantial doubt exists about the client’s ability to continue as a going
concern.

Client B: The Company has departed from IFRS.
Client C: The Company’s inventory records were missing. The auditor obtains sufficient appropriate evidence
by performing alternative procedures.

Client D: Partner Ali decides not to take responsibility for the work of the component auditor who audited a 70%
owned subsidiary and issued an unmodified opinion. The total assets and revenues of the subsidiary
are 5% and 8%, respectively, of the total assets and revenues of Client D.

Client E: The Company has changed its estimate of likely doubtful accounts from 2% of credit sales to 3%. The
auditor believes the change to be reasonable.

Client F: The Company changes from FIFO to LIFO for inventory valuation and the auditor concurs with the
change. The change has a material effect on the comparability of the entity's financial statements this
year, but is expected to have an.immaterial effect in the future.

Client G: Inadequate record retention policies by the-client have resulted in a situation in which the auditor is
unable to obtain sufficient appropriate audit evidence with respect to a material account.
Client H: Partner Ali has decided to emphasize in the audit report that Client G is a component of XYZ Company,

its parent.

Client I: The Company’s prior year financial statements were audited by another auditor who expressed an
adverse opinion on those statements.

1.For which client would Partner Ali least likely express an unmodified opinion with an emphasis-of-matter
paragraph?
(A) Client A
(B) Client C
(C) ClientF
(D) Client H
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2.For which client would Partner Ali most likely issue a disclaimer of opinion with a basis for modification
paragraph?
(A) Client B
(B) Client C
(C) ClientD
(D) Client G

3.For which client would Partner Ali most likely include an other-matter paragraph in the audit report?

(A) ClientD
(B) ClientE
(C) ClientH
(D) ClientI

4.ISA 570 (Revised) deals with the auditor’s responsibilities in the audit of financial statements relating to going

concern and the implications for the auditor’s report. Which of the following statement is correct in accordance
with this ISA?

(A) The auditor shall perform additional audit procedures and consider mitigating factors to determine
whether a material uncertainty exists related to identified events that may cast significant doubt on the
entity’s ability to continue as a going concern.

(B) If the financial reporting framework does not include an explicit requirement to do so, management is
not required to assess the entity’s ability to continue as a going concern.

(C) When performing risk assessment procedures as.required by-ISA 315 (2019 Revised), auditor shall
perform a preliminary assessment of the entity’s ability to continues as a going concern and discuss the
assessment with management.

(D) In addition to inquiry of management, the auditor shall perform additional audit procedures to identify
events or conditions that may cast significant doubt on the entity’s ability to continue as going concern

beyond the period assessed by management.

5. Which of the following factors most likely would heighten an auditor's concern about the risk of fraudulent
financial reporting?

(1) There is a lack of turnover of employees in the accounting department
(2) Equipment is usually sold at a loss before being fully depreciated

(3) An overly complex organizational structure involving unusual lines of authority
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(4) There are large discrepancies between the entity's records and confirmation replies

(5) Inability to generate positive cash flows from operations, while reporting large increases in earnings

(6) Cash transactions are electronically processed and recorded, leaving no paper audit trail

(7) Financial management's participation in the initial selection of accounting principles

(8) Inability to borrow necessary capital without obtaining waivers on debt covenants

(9) Management displays a significant disregard for regulatory authorities

(A)
42)
©
D)

1~2~3~6-7
3-5~9
4~7~8~9
4~5~6

6. Which of the following are clements of a CPA firm's-quality control policies and procedures applicable to the

firm's accounting and auditing practice? (1) risk analysis, (2) safeguarding of assets, (3) assignment of

engagement teams, (4) professional skepticism of management, (5) engagement performance, (6) computer

information processing, (7) efficiency of organizational structures, (8) monitoring mechanism dealing with

complaints and allegations, and (9) acceptance of a client relationship.

(A)
B)
(©)
D)

I ~ 8
3\

—P—~U1-I>N

> 5

~5~9
~8~9
~5~9

7.ISA 315 (2019 Revised ) deals with the auditor’s responsibility to identify and assess the risks of material

misstatement in the financial statements. Which of the following statement is incorrect regarding this ISA?

(A)
(B)

©
)

This ISA introduces five new inherent risk factors to aid in risk assessment.

When determining whether a risk identified is a significant risk, the auditor shall exclude the effects of
identified controls related to the risk.

The auditor is required to assess inherent and control risk jointly.

Controls can be either directly or indirectly related to an assertion, and individual control activities often

do not in themselves sufficiently address a risk.
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8. Which of the following procedures would an auditor most likely perform to obtain evidence about subsequent
events?

(1) Verify inventory pledged under loan agreements by confirming the details with financial institutions.
(2) Inquire about the current status of transactions that were recorded on the basis of preliminary data.
(3) Inspect inventory items that were ordered before the year end but arrived after the year end.

(4) Review the client's cutoff bank statements for several months after the year end.

(5) Compare the latest available interim financial statements with the statements being audited.

(6) Inquire about payroll checks that were recorded before year-end but cashed after year-end.

(7) Investigate changes in long-term debt oceurring afteryear-end.

(A) 3~6+7
B) 2-~5-7
(C) 2-4+6
D) 1+4+5

9.Determining key audit matters should involve:

(1) Making list of matters communicated iothose charged with governance.
(2) Identifying matters which need significant auditor's attention

(3) Identification of item of most significance.

(4) Correct period item

(A) 1-2
B) 1-3
(€) 1-2-3

D) 1-2-3-4

10. Which of the following conditions least likely would raise questions as to the integrity of management when
an auditor evaluates whether to accept an audit engagement?

(1) There are significant differences between the entity's forecasted financial statements and the financial
statements to be audited.

(2) The CPA will not be permitted to have access to sensitive information regarding the salaries of senior
management.

(3) There have been substantial inventory write-offs just before the year end in each of the past four years.
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(4) The CPA becomes aware of the existence of related party transactions while reading the draft financial
statements.
(5) Management failed to provide schedules to prior auditors on a timely basis.

(6) There will be a client-imposed scope limitation.

(A) 145
B) 2-3-6
(€ 1-3-4
D) 256

Please answer Questions 11-16 based on the case provided below.

Hermes Ltd. is a public company incorporated in January 2015 with a registered office in Bruges, Belgium. In
business of Healthcare services, Hermes has 203 elinics and 450 pharmacies throughout the country.

In the previous year, the company achieved turnover of €3 billion, EBIT stood at €34 million, and net profit
amounted to €25 million. The company had borrowed a term loan of €1 billion from KBC Bank in Bel gium.

Mazars Ares LLP are appointed as statutory auditors of the company for the year 2020 - 2021. After completing
the initial engagement procedures and audit planning, the audit team started with the verification of internal
controls of the company. While understanding the controls established by the management in the revenue
process, the audit team observed that there isonly one review control wherein Mr. Dionysus, Sales Manager, had
to review and authorize all sales invoices prepared by numerots executives. He was the sole authority to approve

the sales commission and sales discount which was to be applied by the customers.

Through inquiry and observation, the audit team noted that sometimes Mr. Dionysus had more than 1,000
invoices to authorize in a single day. On many occasions, lie asked 2 senior executives to review pending
invoices, and he relied on them by directly giving his authorization on the invoice. It was also observed that Mr.
Dionysus’ performance bonus was linked with number of invoices authorized by him. Dionysus did not take any
leave during the entire year.

The audit team has set €30 million as materiality based on 1% of Turnover. The audit team selected 30 samples
for the verification of the invoice review control mentioned above. It was observed that out of 30 samples, 20
samples had irregularities in invoices which was clearly due to improper functioning of review control. The

amount of irregularity in 20 invoices amounted to €3 million.
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11. The auditor shall obtain an understanding of the entity and its system of internal control. Which of the
following related statements is correct?

(A) The auditor uses knowledge gained from the understanding of the client's business and industry to assess
control risk.

(B) Thetwo major factors affecting acceptable audit risk are control risk and the intended uses of the financial
statements.

(C) Audit committee is responsible for establishing a private company's internal control.

(D) Even if a company could design an ideal internal control system, its effectiveness depends on the
competency and dependability of the people using it.

12. In this scenario, is the above mentioned control designed appropriately?

(A) No, because Mr. Dionysus delegates his work of review to other executives who are senior in experience.
(B) No, because Mr. Dionysus’ performaneé bonus is linkedwith number of invoices authorized.
(C) No, because there are no leave taken by Mr. Dionysus during the entire year.
(D) Yes, the review control is designed appropriately.
13. In this scenario, is the above mentioned control implemented effectively?
(A) No, because there are irregularities amounting to €3 million in the samples selected by the auditor.
(B) No, because Mr. Dionysus is authorized to finalize sales commission and sales discount.
(C) No, because Mr. Dionysus delegates his work of reviewto other executives who are senior in experience.
(D) Yes. ‘Review Control’ is implemented appropriately.

14. During the discussion with Ms. Aphrodite who is in charge of authorizing credit to the company's customers,
the audit team noted that Aphrodite did not fully understand the concept of credit risk. This lack of knowledge
(A) would constitute a deficiency in operation of internal controls.

(B) would constitute a deficiency in design of internal controls.
(C) would constitute a deficiency of management.
(D) would not constitute a deficiency.
15. What is the most likely method that the auditor used to select samples for testing the review control in question?

(A) Monetary Unit Sampling.
(B) Sampling based on Materiality.
(C) Sampling based on probability of default of the control.

(D) Sampling based on frequency of functioning of control.
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16. The auditor should evaluate the results of tests of controls to determine the effectiveness of the entity’s internal
control system. Which of the following statements is least likely to be correct?

(A) The auditor may no longer concern there is a significant deficiency or material weakness if a

compensating control exists.

(B) If the results of tests of controls support the design and operations of controls as expected, the auditor

uses the same control risk as the preliminary assessment.

(C) The auditor probably reduces tests of controls when the company maintains a large internal audit staff

that reports directly to the accounting department.

(D) The auditor uses control risk assessment and results 0f tests of controls to determine planned detection

risk and the related substantive tests for the financial statement audit.
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Keystone Computers & Networks, Inc. (KCN) has 933 accounts receivable, with a total book value of
$10,235,457. From that population, Adams, Barnes & Co. (ABC), CPAs, selected a sample of 260 accounts (142
unique accounts) for confirmation for the year ended December 31. 20X3, as illustrated by the working paper in
Schedule B-6 (see next two pages). First and second confirmation requests resulted in replies for all but 10 of
those accounts. ABC performed alternative procedures on those 10 accounts and noted no exceptions. Of the

replies, five had exceptions as described below (with ABC follow-up):

(1) "The balance of $120,000 is incorrect because we paid that amount in full on December 31, 20X5." Follow-
up: An analysis of the cash receipts journal revealed that.the check had been received in the mail on
January 9, 20X6.

(2) "Of the balance of $30,000, $330.is incorrect because on December 19-we returned a printer to Keystone
when we found that we didn't need it. We ordered it in'the middle of November when we had anticipated
a need for it. When we received the printer, we realized it was unnecessary and returned it unopened."
Follow-up: An anal\sis of the transaction revealed that it was reccived by Keystone on December 31, 2 0X5,
and that the adjustment to the account had been processed on January 2, 20X6.

(3) "The balance of $214,000 is correct, and we paid it on January 5, 20X6." Follow-up: An analysis of the
cash receipts journal revealed that the check had been received on January 10, 20X6,

(4) "Of the balance of $130,000, $10,000 is incorrect because it represents goods that we didn't receive until
January 5. 20X6." Follow-up: Inspection of shipping records reveals that the item was shipped on January
3, 20X6. "

(5) "Of the account's $18,000 balance, we paid $17,460 and the $540 (3% of the total) remains unpaid because
the Keystone salesperson told us that she would be able to obtain a ‘special’ discount beyond the normal."
Follow-up: While inspection of thessales.agreement indicated #o such discount arrangement, discussions
with Loren Steele (controller) and Sam Best (president) indicated that the salesperson had inappropriately
granted such a discount to the client. On January 15 of 20X6, they processed the discount and credited the
account for $540.

Required:
(A) For each of the above five exceptions, determine the account's proper "audited value."

(B) Use the probability-proportional-to-size (PPS) sampling method with your analysis from requirement (A)
to evaluate your sample's results. You set up the test of details (TD) risk (or risk of incorrect acceptance) to
be 5%.
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Audit Plan—Substantive Tests—Accounts Receivable and Revenues B.S
WL
1/13/X5
Client: Keystone Computers & Networks, Inc.
Financial Statement Date: 12/37/X5
Performed by
Procedure Initials Date
Sales Transactions
1. Obtain an aged trial balance of accounts receivabie as of 12/31/X5. MP 1/6/X6
2. Select a sample of customers’ accounts at 12/31/X5 for positive
confirmation using probability-propertional-to-size sampling based on
the following parameters:
a. Risk of incorrect acceptarice of 5%.
b. Tolerable misstatement of $150,000.
¢. Expected misstatement of $20,000. MP 17I1X6
3. Use generalized audit software to: '
a. Foot the master file of accounts receivable at 12/31/X5. MP 2/12/X6
b. Test the client-prepared aging of accounts receivable. MP 171X6
¢. Select the specific accounts for confirmation. MP W7IX6
4. Mail accounts receivable confirmation requesis. MP 1/8/X6
5. Send second requests for all unanswered confirmation requests. MP 1#25/X6
6. For confirmation requests to which no reply is received, peiform the
following alternative procedures:
a. Test items subsequently paid to remittance advices thatidentify the
specific invoices paid. If necessary, reconcile the amounts paid to sales
invoices and delivery receipts. MP 2/161X6
b. Foritems not paid, inspect the invoices and delivery receipts for the
sales transactions making up the account balance. MP 2/16/X6
7. Resolve exceptions noted on confirmation requests. MP 2/16/X6
8. Review credit files for custemers with accounts receivable above $150,000
at 12/31/X5. Investigate any indications of fictitious accounts. MP 2/161X6
9. Summarize the results of the confirmation procedures. MP 2/16/X6
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Audit Plan-Substantive Tests—Accounts Receivable and Revenues WL
1/13/X5
{Conciluded)
Client: Keystone Computers & Networks, Inc.
Financial Statement Date: 12/37/X5
Performed by
Procedure fnittals Date
10. Review the adequacy of the allowance for uncollectible accounts by
performing the following procedures:
a. Review the aged trial balance of accounts receivable with the president, WL 213/X6
b. Review confirmation exceptions for indications of disputed amounts. Wi 2/113/X6
¢. Analyze and review trends in the following relationships:
{1} Accounts receivable to net sales. WL 2/15/X6
(2) Allowance for bad debts to accounts receivable. WE 2/15/X6
{3) Bad debt expense to net sales. WL 2/15/X6
1. Atyear-end, review the file of sales invoices that are waiting to be matched
with delivery receipts for any sales transactions that were not executed and,
therefore, shouid be recorded in the subsequent period. MP 12/31/X5
12. For all sales recorded in the last week of the year, inspect the related
delivery receipt to determine that the sale occurred before 12/31/X5. MP 2012(X6
13, Review credit memoranda for sales returns and allowances through'the
last day of fleldwork to determine if an adjustmentis needed o record the
items as of year-end. MP 2/6/X6
14. Perform analyticat procedures for sales and accounts receivable including
comparison of the following to prior years and/or industry data: WL 2/12(X6
Q. Gross profit percentage by month. Wi 2/121X6
b. Sales by month by salesperson. Wi 2116/1X6
¢. Accounts receivable turnover. WL 2(16/1X6
d. Advertising expense as a percentage of sales. WL 2/16/X6
e. Net receivables as a percentage of total current assets. WL 2/161X6
15. Ascertain whether any accounts have been assigned, pledged, or
discounted by review of agreements and confirmation with banks. WL 2/13/1X6
16. Ascertain by inquiry whether any accounts are owed by employees or
related parties such as officers, directors, or shareholders, and
a@. Obtain an understanding of the business purpose for the transactions
that resuited in the balances. Wi 2/16/X6
b. Ascertsin the amounts involved. Wt 2/16/X6
¢. Confirm the balances. Wi 1#25/X6
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To conduct the PPS sampling, you also collect the following statistical data:

Test of Details Risk 1% 5% 10% 15% 20% 25%
Error Expansion Factor 190 160 150 140 130 125
Reliability Factor 461 300 231 190 161 1.39
Incremental allowance for sampling error
(Ranked Overstatement Error)
1 1.03 075 058 048 039 031
2 077 055 044 034 028 023
3 064 046 036 030 024 018
4 056 040 031 025 021 0.17
5 0.50™=0.36 028 023 0.18 0.15

FwmE: MEE (17 4)

about accounts payable and purchases.

focuses on the (accounting) information system and control activities.

In auditing the acquisition eycle of Keystone Computers & Networks, Inc. (KCN), the following working papers
are prepared by the audit staff of Adams, Barnes & Co. (ABC), CPAs:

(1) The Assessment of Control Risk for accounts payable and purchases as it would appear before any tests
of controls are performed. This working paper identifies the preseribed controls and weaknesses for the

revenue cycle. It also relates the controls and weaknesses to the various financial statement assertions

(2) A Flowchart description of the acquisition cycle of the company and the related controls. This flowchart
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KEYSTONE COMPUTERS & NETWORKS, INC.
Assessment of Control Risk—Acquisition Cycle

12/31/X5

Internal Controis

Existence
or
Occurrence

Completeness

Cutoff

Rights
and
Obligations

Valuation

and

Accuracy

Presentation
and
Disclosure

Sales

1. Separation of duties for
authorization of purchases,
receiving merchandise,
approving payment to
vendors, and signing checks.

2. Computer assigns number
to purchase orders, receiving
reports, and checks.

3. Computer matches
information from vendors’
invoices with purchase
orders and receiving data.

4. Computer tests numerical
accuracy of vendors’
invoices.

5. Approval of vendors’
invoices prior to payment.

6. Checks are mailed by the
check signer.

7. Monthly reconciliation of
bank accounts by an
employee who is
independent of invoice
processing, cash
disbursements, cash receipts,
petty cash, and general
ledger functions.

8. Comparison of actual
disbursements to budgeted
amounts and investigation
of variances.

Internal Control Weakness

1. Approved vendors are
selected by purchasing
manager who also purchases
goads.

2, Vendors' statements are
not reconciled to the
accounting records.

Planned Assessed Level
of Control Risk

Moderale

Moderate

Noderale
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KEYSTONE COMPUTERS & NETWORKS, INC.
internal Control—Acquisition Cycle

12/3UX5
Purchasing Manager Receiving Clerk Accounts Payable Clerk Treasurer
Janis Taylor Wayne York Tom Easton James Edwards
Purchase 3 Purchase
Information : Order Looked
Keyedinto | Up in the -
Computer : Computer | yrendor' s Compares
= - System ! joics Checksto  E
‘ o y} Information Listing 3
Keyedinto | :
Computer If Purchase : Computer T {v S
Generates Order Is Located, “ 3
Purchase Order Goods Are Signs Checks
Accepled Computer and Initials
i B + Matches Each ltem
Purchase, | on Listing
" Purchase ltems Received Receiving, - *
Order Keyed into : and Invoice :
il | Computer Information : Mails
| - Checks
y * to Vendors
Faxed : Computer Cash Computer
o ; Gene'r g Disbursements }—  Processes
Supplier s Receiving File Payment and
e Updastes Cash
Disbursements v
Open 4 and Open
Payables —1  Payables File .. Initialed
File e Disbiirsement
Unsigned Checks
Listing J \—-
of Approved
Notes: Disbursements
1. The company uses Microsoft Dynamics GP, a commercial accourting software {,

package that has not been modified.

2. Approved vendors are selected by the purchasing manager. Excepticn

3. The company has & local area network, with computer terminals in the sales, Report
purchasing, work order, recelving, and accounting departments.

4. Purchase order dats are entered on an online terminal that applies the following
application controls:
+ The purchasing manager's password is verified before information is accepted, m
+ Vendor numbers are agreed by computer to approved vendor master flle list before by
- purchase order is generated. Date

- Computer assigns sequential numbers to purchase order.
5. Recefving information Is entered on an online terminal that applies the following controls:
« The receiving clerk’s password is verified before Information is accepted.
« Computer assigns sequential numbers to purchase order.
Vendors' invoice information is entered on an online terminal that applies the following controls:
- The accounts payable derk’s password is verified before information is accepted.
- The computer recomputes the individual items and the total amount of the invoice.
7. Computer agrees with purchase order, receiving, and invoice data and produces an exception report for any situation
in which the documents do not match. Accounts payable derk follows up on exceptions and describes resolution an report,
8. Compter updates cash disbursements and open payables files.
8. The accounting manager reconciles the cash and open payables accounts to the general ledger on a monthly basis,
10. The accounting manager reconciles the bank account on a monthiy basis.
1. Cash disbursements are budgeted and the controlfer analyzes and explaing variances.

o
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Required:

(A)For the following three controls over the acquisition cycle, indicate one type of error or fraud that the control

serves to prevent or detect. Organize your solution as follows:

Control

Error or Fraud Controlled

1. Computer matches information from vendors'

invoice with purchase order and receiving data.

[\

. The computer assigns numbers to receiving reports.

(V8]

. Checks are mailed by check signer.

(B) For each of the controls described above, indicate how the auditors could test the control. Organize your

answer as follows:

Control

Tests of Controls

1. Computer matches information from vendors'

invoice with purchase order and receiving data.

2. The computer assigns numbers to receiving reporis.

3. Checks are mailed by check signer.

(C) As indicated on the Control Risk Assessment working paper, the auditors identified two weaknesses in

internal control over the acquisition cycle of KCN. Describe the implications of each of the two weaknesses

in terms of the type of errors or fraud that could result.
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